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A a
-k o X & | HERK E: = H
01| T # H 501 559 647 1,206
002 | @ AKX H 665 756 821 1,577
003| +F # H Hr 350 337 326 663
004 | & B  H 984 1,195 1,075 2,270
005 | X R H 725 851 881 1,732
006 | = & F W 1,410 1,730 1,609 3,339
007 | # i) 165 250 194 444
08| 5 4 H 810 931 977 1,908
009 K @& m 544 714 712 1,426
010 | & H i) 1,075 1,380 1,468 2,848
o | € B F H 666 819 853 1,672
012 | & # i 870 1,110 1,256 2,366
013 | 3hA H i) 553 740 825 1,565
014 & &® H 883 1,073 1,109 2,182
015 | & B H 117 142 168 310
061 | XHEHET—TEH 32 33 24 57
062 | XFERET—-TH 217 206 210 416
063 | XFERET=TH 19 39 65 104
064 | XFERETMTH 105 113 132 245
071 | 4&HAE—TH 36 28 43 71
072 | £BABRI-TE 266 272 234 506
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O-k o X & | HEHR 3 z &
081 | FAa T — T H 0 0 0 0
082 | FAa BT — T H 32 793 67 860
083 | B BT = T H 158 159 184 343
091 | QBT —TBH 74 78 101 179
092 | BT _—TH 71 236 387 623
101 | R ET—TH 106 106 106 212
111 | FEHEBI—TH 122 136 127 263
112 | EHHEEZTH 86 75 64 139
113 | FEHEBI=TH 108 107 123 230
114 | FEHEBETMETH 148 139 167 306
115 | FEMEBTATH 144 112 153 265
116 | EEHHAEATH 134 124 127 251
117 | FEHEBTETH 120 136 154 290
118 | +FEHEHEBEI/\TH 142 141 146 287
121 | Z@FE—TH 76 66 75 141
122 | ERFEIZTH 49 63 64 127
123 | ERFEI=TH 78 74 90 164
124 | ERFEIWTH 72 70 52 122
125 | ERFEIATH 101 100 105 205
126 | EZ@EFEIATH 146 126 116 242
127 | ERFEILTH 144 101 160 261

& it 13,104 16,220 16,197 32,417




